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ES-213 : FOUNDATION IN SUBJECTS 
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Note : (i) All questions are compulsory. 

(ii)All questions carry equal markes. 

1. 	Attempt any four of the following in about 150 

words each. 

(a) Discuss in brief the institutions of society 

and their effect on the life of an individual. 

(b) What is meant by social change ? Explain 

the characteristics of a social system. 

(c) Briefly explain the factors affecting social 

change. 

(d) Describe Gandhiji's contribution to freedom 

movement in India. 

(e) What is meant by international 

understanding ? Explain with examples. 

(f) Discuss the role of United Nations to 

develop international understanding. 
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2. 	Attempt any four of the following : 

(a) Find the value of : 

a2  — 2ab + b2, if a =9 b =8 

(b) Solve the following equation and verify the 
solution 15(x — 4) — 2(x — 9) + 5(x + 6) = 0 

(c) Ram's father is now five times older than 
him. After eight (8) years, his father will 
remain only 3 times older than him. What 
are their ages now ? 

(d) (i) Draw the diagrams of a convex and a 
concave polygon. 

(ii) Find the value of Z x in the following 

figure. 

(e) Classify the angles whose magnitudes are 
given below 

(1) 118° 	(ii) 19° 

(iii) 360° 	(iv) 179° 

(f) The LCM and HCF of two numbers are 
respectively 448 and 32. If one of the 
numbers is 64, what is the other number ? 

3. 	Attempt any four of the following : 

(a) Define a force. Give examples of different 
types of forces. 
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(b) Name different kinds of energy. Give 
example of transformation of energy from 

one form to another. 
(c) Explain with diagram the different types of 

lever. 
(d) A rectangular box has dimensions 

5m x 4m x 3m : 

(i) What is the volume of the box ? 

(ii) What is the total surface area of the 

box ? 
(e) Explain the process of separating the 

different constituents of a mixture 
containing sand, iron filings, common salt 

and camphor. 
(f) How will you prove that air is a matter ? 

4. 	Attempt any four of the following : 

(a) What are different kinds of soil ? How are 

they formed ? 

(b) Briefly explain with examples different 

methods of sowing crops. 

(c) How can soil fertility be maintained ? 

Explain. 

(d) Explain with diagram the earth's rotation 
and occurrence of day and night. 

(e) Draw the diagram of a lunar eclipse 

(f) What do you mean by eco-system ? Briefly 

mention its different components. 
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3-12-  : (i) 	?79# sari arra—are, `/ 

	

(ii) 	F9ftV'rq ch7-  977 -fra-r WI/-/ t/ 

1. 	14-“,“Act -4.4 /%--4wn--579) t 3-Kit X41 -51---t- 

.3-cit r141417 150 7f 	-4 61-11 -clifi I 

(a) -111-1ll'Ach #T-24-r4 * - 1Fwi t - 1-q-9-  il-T Trk 

-gli-rq'f ch1 7404 44 *cif ci, 	 1 

(b) -11111r, ich -gft-d-49" 	qrETT 31-51-7P4 t? '114-11 Acb 

-wq-T-21-r *1 Fa 	ac1131 c oiRsql 

(c) -ill-II z11-) LiFocii 1-;) 511-rr-- 	-t-4 a-r tr-t--  ch 

*)-cr -4 ciRsqf et-) 	I 

(d) 9-TR-ff t-ad--Ac-11-3-TT 	4 ITTNIt t q-i 

qurr9 cli.  I 

(e) 	34-4174Trrq:14 cF-4131-fir5r1 t? 4qlot «ARNI 

ch 1 
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(f) 	3 	uTITIF rcichRid 	rr-R Tfack-1 ZIP 

1-)1 0=rwr ci;1 i iI .1,* 

2. 	ri4-1 kiro 	ci 14 A 	V/T5179) 	•TR 

(a) 	TIt a =9, b=8 	F-14---trorod 	-11c-1 cbk : 

a2 — 2ab +b2  

(b)   c 	 3t1T 	AT-ci 

: 15(x —4)-2(x-9)+5(x +6)=0 

(c) 	Triq 	fcrffr 1-)1 31-%a 	Trn-74 Ti -urr 	qi-c4 +,t-if 

3Tfq-  t 3Tra 	air 	Ncir 

q-tr 	q-4-11-r9 TriT-4 	4)1-  o ctql 

t? 

(d) (i) 	3rlrr (convex) 3-T1T 3-1-4-F@ (concave) 

°h 13 	WiT-44 I 

(ii)   14 Lx 	x)chf 4-11-1 

711c1 	: 

30°  

(e) 	F.14-irrirod 	cvif ca,1 cr) 	-grrEr 

(magnitude)    t : 

(i) 118° 	(ii) 19° 

(iii) 360° 	(iv) 179° 
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(f) 

(f) 	1 ti.(s61131[ 	(LCM) 3 14.T1.7. (HCF) 

sh+-RI: 448 AT 32 t I clk 3114 	.) ,4.0q1 64 

t 	4(-ii Tr X1+1? 

3. 	tgd 	 apt : 

(a) .izt‘-{ orrErr 

-k 

(b) rifim emit ch a),3-1 	-q-dT4 I 	I1 	im  

tc04 	 tc\LII-cRuf 	dqlor 

(c) faf 	Mchlt t 371 oct) •  (lever) 	3-Tt3 Tftd 

ch Z I 
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4. 	1:14--irrirtAci -4 -4 77wTT-579)'-k 

(a) fq-fim -5rwr-{ m1fifoif Oq 	.V 

(b) A)-4 c f f 	fafkt et;) # -)-ct 

ch 

(c) 3-4-TaTt*-{:F .51- TT armor tO1 tr •-ichr-11 

t? 

(d) 11-0-9- 	rqi .1 ticlA94 ah1 	rr 

	 cril 	1111 .4 (-14-1-114 I 

(e) chi 3-T1- 1 (Diagram) -q774 I 

(f) triftff-41-d-Tcl-A3-T17*-117:11:P:14t? faf 

ci-)1*)7T 	cr-> 
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